
Was ist die richtige Lösung? (plus Zahlen bis 20)

1. 568 + 10 = 2. 163 + 9 = 3. 194 + 8 =

4. 461 + 10 = 5. 238 + 18 = 6. 431 + 9 =

7. 302 + 20 = 8. 429 + 10 = 9. 120 + 0 =

10. 523 + 5 = 11. 705 + 2 = 12.900 + 17 =

13. 394 + 6 = 14. 632 + 1 = 15. 624 + 9 =

16.398 + 20 = 17.190 + 13 = 18. 30 + 11 =

19.753 + 17 = 20.338 + 12 = 21.250 + 11 =

22.278 + 12 = 23.555 + 13 = 24.715 + 20 =

25.191 + 20 = 26.353 + 10 = 27. 973 + 7 =

28. 44 + 13 = 29.560 + 16 = 30.381 + 13 =

31.713 + 15 = 32.860 + 17 = 33.549 + 10 =
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Was ist die richtige Lösung? (plus Zahlen bis 20)
| ANTWORTEN

1. 568 + 10 = 2. 163 + 9 = 3. 194 + 8 =

4. 461 + 10 = 5. 238 + 18 = 6. 431 + 9 =

7. 302 + 20 = 8. 429 + 10 = 9. 120 + 0 =

10. 523 + 5 = 11. 705 + 2 = 12.900 + 17 =

13. 394 + 6 = 14. 632 + 1 = 15. 624 + 9 =

16.398 + 20 = 17.190 + 13 = 18. 30 + 11 =

19.753 + 17 = 20.338 + 12 = 21.250 + 11 =

22.278 + 12 = 23.555 + 13 = 24.715 + 20 =

25.191 + 20 = 26.353 + 10 = 27. 973 + 7 =

28. 44 + 13 = 29.560 + 16 = 30.381 + 13 =

31.713 + 15 = 32.860 + 17 = 33.549 + 10 =

578 172 202

471 256 440

322 439 120

528 707 917

400 633 633

418 203 41

770 350 261

290 568 735

211 363 980

57 576 394

728 877 559
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